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Run 5297 quartetwise, PosHelAccl/NSamplas0

=== Laser O -—
Entrie=: 26198
Mean: 16.5717 «/- DUDD36E
St Dhey: 05710 &~ 00025

=== Lager OFF ---
Entrie=: 20056
Mean: 238963 +- 0.0019
Sid Dey: 03168 -~ 00073

Run 5297 quartetwize, Diffs)

=== Laser O -—
Entries: 26198
Mean: 08613 «- 0.0035
Sid Dhey: 0.5482 - 00024

=== Laser OFF ---
Eniries: 20066
Mean: 0002 +- 0.0019
Sid Drey: 037194 - 00073

Run 5297 quartetwise, Asyms(

=== Laser ON -—
Entries: 25198
Mean: 313206 «/- 01256
Sid Dev: 199426 +/- (LOGHE

=== Laser OFF ---
Eniries: 20056
Mean: 00427 «- 0.0604
Sid Dev: 116175 4/~ (L0480
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Run 5297 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-
Entries: 2619&
Mean: 16,7105 /- 0U0035
Sid Dhev: 0.5509 &~ 00025

=== Lager OFF ---
Enlries: 20056
Mean: 23851 «/- 0.00149
Sid Dev: 076 - 00073

1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 J I \
& § 12 14 18 1

0

Run 5237 quartetwize, Sums0

B

=== Laser O -—-
Entries: 26198
Mean: 32,2822 & 000062
Sid Dheyv: 09780 & 00044

== Laser OFF ---
Entries: 20066
Mean: 47913 +/- 0.0033

Sid Drev: 0U5487 - 0.0023

3 a5




1800

1400

1300

1000

&

&0

400

200

1300

1000

800

&0

400

200

12300

1000

800

&0

400

200

Run 5297 quartetwise, PosHelAccd

— Lasar O —

Erln: 25108

Masn: 35318210.0508 & PSE TESD
22 Dira: 1SEC 001 81590 & POV 2B

— Lassar OFF —
Erlna: IR0
Main: 2821178 3000 «i- ITELIIET
S Dre: SEEDDE12EZ 4= TS TN

1 1 1 =10

Run 5237 quartetwise, Diffgd

1

— Lasar O —
tnlnea: 2315
Maan: 2067178 3812 «0- e 0
S [Oire: THEIETY. I &b G137

— L OFF —
Crlna: IS0
Maan: -1 FEATE « - 0504
d Dwre: SEELE.E032 &~ TIHA24973

Run 5297 quartetwize, Asymsd

=== Laser ON -—
Entries: 25198
Mean: 37,6524 «/- 0U10E9
Sid Dev: 17,2919 4/~ 0LOTT0

=== Laser OFF ---
Eniries: 20056
Mean: -0.0167 < 0L0I24
Sid Dey: 54247 - 00229
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Run 5297 quartetwize, NegHalAcc4

ANENERENEEN

— Ly 0% —

Erlna: 23104

Main: 3TN 1T - Y IR
25 Dwre: TROGECM AT - BN10506

— Lussar OFF —
Erlna: JEOGE
Main: 2T, TR - TTTVLTTES
Sd (Dire: SEECEE EHE +- T4

R R N I o =1l

Run 5237 quartetwizse, Sumsd

— Ly 0% —
trlnea: 2319
Main: HNSHELISIE «- TTIIESS T
Sod Dwre: TF1EHS G0ET = 1211171861

— Lumar OFF —
Crlnaa: T30
Maan: 3ISG0E] IS0 = SR BE
S0 [Onire: S0BYTETAES + T TE M8
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Run 5297 quartetwise, Asyms USbg?

=== Laser O -—
Entrie=: 26198
Mean: -0.0030 «- 00024
Sid Dhey: 0.378% o 00007

=== Lager OFF ---
Entrie=: 20056
Mean: 006 +- 0.0
Sid Dhey: 03847 -~ 0006

1 ahlh

(||

Run 5297 quartetwize, Asyms DSbgl

=== Laser O -—
Entries: 26198
Mean: 00071 «- 0.0006
Sid Dhey: 00930 - 00004

=== Laser OFF ---
Eniries: 20066
Mean: 0.0009 +- 0.0006
Sid Dey: 00936 - 00004

Run 5297 quartetwise, Asyms Horiz Fingar

0.5

0.5

=== Laser ON -—
Entries: 25198
Mean: 0LO0TE +- 0.0
Sid Drey: 03327 - 0005

=== Laser OFF ---
Eniries: 20056
Mean: 00013 «- 0.0027
Sid Dey: 04463 - 00078
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Run 5297 quartetwize, Asyms UShg2

=== Laser O -—-
Entries: 2619&
Mean: 0006 +- 00017
Sid Dhev: 0U2GET - 00072

=== Lager OFF ---
Enlries: 20056
Mean: 0006 «- 00016
Sid Dhey: 0.269T & 00071

1 1 J. 1

1

a 0.5

Run 5297 quartetwize, Asyms DShg2

=== Laser O -—-
Entries: 26198
Mean: 00009 «- 0.0005
Sid Deyv: 0L0E39 - 00004

== Laser OFF ---
Enlries: 20056
Mean: 00002 +/- 0.0005
Sid Dev: 00843 - 00004

Run 5287 quartetwize, Asyms Vert Finger

=== Laser O -—-
Entries: 25198
Mean: 00028 +- 0.0016
Sid Dhev: 02487 - 0.00711

== Laser OFF ---
Enlries: 20056
Mean: -0.0012 «- 0001%
Sid Dev: 031684 - 00073

1.5 a 0.5
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Run 5297 quartetwize, posHE vs time Run 5297 gquartetwize, negHO vs ftime
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Run 5297 quartetwize, posH4 vs time Run 5297 gquartetwize, negH4 vs time
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Run 5297 quartetwize, USbg1 ve time
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Run 5297 quartetwize, DSbg1 ve time
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Run 5297 quaretwise, variFing vs timea
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Run 5297 quartetwize, USbg2 ve time
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